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10,000,000& 10,000
& 10,000
O848 =202 7H =0 SA
50,000,000 50,000
& 50,000
O34H F80ls s2 T SA
20,000,000 20,000
& 20,000
OZaH 20| wg t2k 2 It &X
(7o) 30,000,000 30,000
& 30,000
OLES Sits 8 B2 e At
10,000,000 10,000
& 10,000
ONE UI2N OIS a2 &H Y 224
X At 30,000,000 30,000
= 30,000
OZ 43 JEHR7 =2t X At
20,000,000& 20,000
= 20,000
OL3 S MEOIS =2 &X
30,000,000 30,000
= 30,000
OCuEs 2N0E SS=xE =4
20,000,000& 20,000
= 20,000
XS E43tArY 3,765,000 5,140,000 21,375,000




SN AL
M ARDMESAFY|
s XISIHE A (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
401 AIEBIZ20HbI 3,765,000 5,140,000 A1,375,000
01 Al&HI 3,755,000 5,128,000 21,373,000
OJIZEE2 HYUEX BA(0I2ESXE4)
200,000,000& 200,000
OHIgEEEZ S22 200,000,000& 200,000
OoHEE A& E+2 HHBA
60,000,000& 60,000
O2H (Ss4kel), 3at XS =2 SA
40,000,000 40,000
O0IAS SXIE YR HEF Bh
100,000,000& 100,000
OFNH =5 =2 FH| Z2Al
49,000,000& 49,000
O=48H GO0t s2XE SAH
28,000,000 28,000
O=NH 25 42 HH| ZAH
23,000,000 23,000
OHAH SHEC| MAHDIE =2 &Y AL
87,000,000 87,000
QA Atg|, AFC|XIF B2 &8l SAt
13,000,000& 13,000
OHAD FAR0IS 01 B U JjSHY A
Xl SA 30,000,000 30,000
QOHAMH XEL| X022 s 2 SA
120,000,000& 120,000
OEXNH 2| S =22 X A
45,000,000 45,000
OEXH 2l FY L Sl &AL =2
X SAH 29,000,000& 29,000
O=XH 0te s22E A
126,000,000& 126,000
OEXNH =3 Ss2HE A
50,000,000 50,000
0N SEXT AR Y TRES
SAE 60,000,000& 60,000
O82H B s2EE A
40,000,000& 40,000
O SAINEHX] OtAE & =4 SAt
50,000,000 50,000
OF2H MO0t =82 ZT A
30,000,000 30,000
0= HROIS o2 HILH BA
50,000,000 50,000
OS2 FTLEOS e A
20,000,000 20,000
O=28H SEHOIS =2 &X SA
50,000,000& 50,000
O28H NS0t =2 X SA
50,000,000 50,000
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Rl XIS IHEALS
S A - BRI - HRA - BES of e A
O358 SU0I= =2 SA
80,000,000& 80,000
OS5 AANDIS =2 SAt
70,000,000 70,000
OFold &30S =2 SA
35,000,000 35,000
OFotd el E2 HH SAt
60,000,000& 60,000
OFotH e sZHE SAt
40,000,000& 40,000
OGP Z0iS B4R U S2HTT T
At 115,000,000 115,000
Od52 |l S+2HA SA
60,000,000& 60,000
0488 840l M SA
40,000,000 40,000
OdE8 gSZ0IS ot OtAZRARI| A
& 30,000,000 30,000
OXSH MDA S2EE SA
63,000,000& 63,000
0TS HY S2REF B
37,000,000& 37,000
OXEH IS S22Y SAt
50,000,000 50,000
ONSH FS0IS =2 SAt
40,000,000& 40,000
OZSH 21012 JHEY &Xl SAt
20,000,000 20,000
OX=E 2|, SL0IS SZEELE A
40,000,000 40,000
O=-8 2=l Std0tS <=2 ZH| 3At
36,000,000& 36,000
0O37H 22 =202 =2 JH| At
28,000,000 28,000
O=7% NE2l &olitsS et OtAE M
LI SA 30,000,000 30,000
O+ d2| HS0S =2 Jdl SA
6,000,000& 6,000
Osg8 el == EHl At
29,000,000 29,000
OSg® sl =2 EHl Al
38,000,000 38,000
OsSEH =2 =2 Bl A
33,000,000 33,000
OSEH HE0S OtAZIMN LRI SAH
25,000,000 25,000
OSEH Al SE0tS =2 =& SA
10,000,000 10,000
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10,000,000
21,000,000&
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8,000,000
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2A:

&1t
B ARDMSSATY|
Chel: XIGIHE ALY AR
SA - B SRIBH) - MRAR - BAS A HIDEZ
OLES 28, Nd SXYE & s2Hd
SAt 46,000,000& 46,000
OLES NES 8F StI+=201H A
44.,000,000& 44,000
OLES S OIAZTM LD
10,000,000 10,000
OB HE0=S =2 8 At
80,000,000& 80,000
OZAS Ul=sAtE LS RUZ LT ZA
20,000,000 20,000
OuEs Y S22 A
40,000,000 40,000
Onas Y tI=2FHl SA
35,000,000& 35,000
OUES = =2 &H| A
25,000,000& 25,000
Ounas 430t FNUHE =4 SA
95,000,000 95,000
OUIS MA0IE S22 SA
55,000,000& 55,000
03 AIZ S THYI 10,000 12,000 A2,000
OXIS SHSAIY AIZ=20HHI
10,000,000& 10,000
HY2HAH(AL) 27,900 30,420 A2,520
Jl23HI(A&) 27,900 30,420 A2,520
Jl23HI(AHE) 27,900 30,420 A2,520
202 04t 22,800 25,200 2,400
01 =LHOHI 22,800 25,200 2,400
OSEEZ 0| 100,0002 x19&+12& 22,800
203 =4l 5,100 5,220 A120
M FA2SHIFII 5,100 5,220 A120
OA& 425,000 123 5,100
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